3% RFv7F

8 2XAEX @O

~AYABIZEEMES - WAWSLG2RAEX~

FAE HH

K4

1 WROFBEREME IS0,
(1) x*=10x
X2—10x=0

X (x—10) =0
X=O i X=1O

MILBERH X TS

x=0, x=10

(3) 2+ x—72=0
(x—8)x+9)=0

X=8, XxX=—9

X=—9, x=8

(5) x2—10x+25=0
(x—5)y=0

X( )2=0DHTRH#EPEINT-
&E, BN 21255,

X=5

X=5

(7) x*4+6x—27=0
(x—=3)x+9)=0

(2) x*=9x=0
x(x—9)=0

xX=0,

XEBEH X TS
X=9

X=0, x=9

(4) x*—4x=—3
X(2XHK)=0DHIZHBIEL TEET 3,
X2—4x+3=0
(x—1)Xx—3)=0
x=1, x=3

(6) x2—24x+144=0
(x—12)2=0
x=12

X=12

(8) 2x*—10x+12=0

MA%E2THB,
X2+5x+t6=0

X=3, x==9 (x+2)x+3)=0
X=—2, x=—3
2 2WHRR x*—2x—24=0 ZHMXLIV, HIEREARME)
(x—6)Xx+4)=0
X=6, x=—4
X=6, x=—4




